EARAROBEEIERT — 2 N— IBISH —F

2015513270 (K) 23EE&HE2H

E%EE LJXIXMFIY B H5%—K \ (xE] & \ (Sampl — | 4 (/) 14000 K&
[AE£] 1% :350,000” ~ 2%&:91,000”  337%&:39,000”  43%&:28,000M”  5&:0H
B BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. \ 5 . 1-1- — St
118lg| XTH AN Fr—2 w24 ﬁ%ﬁéﬂ 1.(2_8).5 1-1-1-1 | 39.2 2 zzg)s 1§§§E (BEE)
R:F4—TAHA4 B:XIenvavst-— RIS
s . i 4 | TTX 1:29.0 3-3-3-3 [39.4| — 1 448 | ETIB—S (BHE)
] 4| V>FFH> 54.0 2 1/2) (3 | EKRE
L:Tv AT Ly h— BEPFIEILL fEcpae]
= C = N, RREH : -9-9— — TTEAN (BHE)
3177 SAXT AT R 4 5 A53.0 1&K FeT B8 s g ﬁﬁﬁ
R:TFAT7 X84 L B:32704 KBS
. cen e NAKEH : —8-6- — RHEA (BHE)
4 3| A1vayvLAT #H 5 St 1.(219).4 8-8-6-6 | 38.9 5 (4:337) e
R:VvAT7>byh— BXAXARY Y2 w77 — L
PNEEFIIE : 00— — $RRBEX (BHE)
5 o | ANT T T - 4 5 s f 1.(229).8 2-2-2-2 | 40.3 4 ;1+714) iacreiad
LT RIA YA BRI RF BH FiL
=S4 = 4 7 | BEE 1:29.8 5-4-4-4 | 40.0 | — 6 47 | RBE (BEHE)
6lglg| 77V Vv X7 1R 56.0 (74%) (+1) | BEMEARS
RiF4>N=—Hr b= B by TT7H—F1> HO43%
S 5 B 5 | AEE 1:29.9 6-6-5-5 |39.8| — 7 421 | EBRETR (BEHE)
7155 | T¥—%37 54.0 (7€) (o) | EWHY
R:ZAFAd—I K B:X5KLZH AEKERS
5 # 5 | HFLX 1:30.2 4-5-8-8 |39.8| — 3 o | HE=E (BEHE)
EH G| n7EbA 0 (1172) 1) |HEES
R:TSATLREAML BV FIILT 27 [53ztier]
i s 5 | BEER— 1:30.8 7-7-7-9 | 40.4| — 9 493 | BTIBE—5 (BHE)
9111 JTEhFT 56.0 (3) -1) FREEE
R4 N=Hh> )= B:H—%v hED- Wt hFILZ &y K
® I—F—@EBIERL
15l=2F= 9,2,4,6,8,5,1,3,7
23=7F= 9,2,4,8,6,5,1,3,7
T =35r= 9,2,4,8,5,3,1,6,7
43—+ — 9,2,4,8,5,3,7,6,1
[ RN
B 9 320M 794K 4-9 150 & 4-8 200/ &R 4-7-9 4,910
# B 9 130M 7-9 1,570H B E 4-9 250 EE 9-4-7 15,5004
4 140 4-7 1,770H B H 9-4 550
7 1,690

ABICOVWTRDTEEERROODE. TR LIV,




